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QUESTION 1

GeekCert.com

All interfaces involved in transparent mode are configured with which protocol family?

A. mpls

B. bridge

C. inet

D. ethernet -- switching

Correct Answer: B

Explanation: In transparent mode, all interfaces involved are configured with the bridge protocol family. This allows the
SRX device to act as a bridge between the interfaces and forward traffic transparently without any modification. The

bridge interfaces can be configured to forward traffic based on layer 2 headers, such as MAC addresses, without the
need for routing or IP addressing.

QUESTION 2

Exhibit You are using trace options to verity NAT session information on your SRX Series device Referring to the
exhibit, which two statements are correct? (Choose two.)
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A. This packet is part of an existing session.
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B. The SRX device is changing the source address on this packet from
C. This is the first packet in the session
D. The SRX device is changing the destination address on this packet 10.0.1 1 to 172 20.101.10.

Correct Answer: CD

QUESTION 3

Which statement is true about persistent NAT types?

A. The target-host-port parameter cannot be used with IPv4 addresses in NAT46.

B. The target-host parameter cannot be used with IPv6 addressee in NAT64.

C. The target-host parameter cannot be used with IPv4 addresses in NAT46

D. The target-host-port parameter cannot be used with IPv6 addresses in NAT64

Correct Answer: D

Explanation: NAT (Network Address Translation) is a method to map one IP address space into another by modifying
network address information in the IP header of packets while they are in transit across a traffic routing device. There

are different types of NAT, one of them is the persistent NAT which is a type of NAT that allows you to map the same
internal IP address to the same external IP address each time a host initiates a connection.

QUESTION 4

You are asked to configure a security policy on the SRX Series device. After committing the policy, you receive the
"Policy is out of sync between RE and PFE ." error.

Which command would be used to solve the problem?
A. request security polices resync

B. request service-deployment

C. request security polices check

D. restart security-intelligence

Correct Answer: A

https://kb.juniper.net/InfoCenter/index?page=contentandid=KB30443andcat=SRX_SERIESandact p=LIST

QUESTION 5
You are requested to enroll an SRX Series device with Juniper ATP Cloud.

Which statement is correct in this scenario?
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A. If a device is already enrolled in a realm and you enroll it in a new realm, the device data or configuration information
is propagated to the new realm.

B. The only way to enroll an SRX Series device is to interact with the Juniper ATP Cloud Web portal.
C. When the license expires, the SRX Series device is disenrolled from Juniper ATP Cloud without a grace period

D. Juniper ATP Cloud uses a Junos OS op script to help you configure your SRX Series device to connect to the
Juniper ATP Cloud service.

Correct Answer: D
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